THE 2013 :
FINANCIAL e ing
STATE oF THE STATES |

1 Alaska 3 Wyoming 5 South

Per Taxpayer Per Taxpayer
Surplus: $46,900 Surplus: $20,200 Dakota
Per Taxpayer

North 4 Utah Surplus: $2,700

Dakota Per Taxpayer

Surplus: $22,300

BOTTOM 5
Sinkhole States

46 Hawaii 49 ILlinois
Per Taxpayer Per Taxpayer
Burden: $27,000 Burden: $43,400

4/ Massachusetts 5 () Connecticut

Per Taxpayer

Per Taxpayer
Burden: $28,000 48 fl:elg'!)\(’pajﬁrrsey Burden: $48,100

Burden: $36,000

www.truthinaccounting.org

(312) 589-5100 © 2014 Truth in Accounting
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